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110653852400255 | 2k 025 P E R AR 1080902 |HiEKS R4 4 Hil |51 68 96 119 334
110653852400250 | 3 025 P E R AR (080902 |HiEKS R4 4 Hiil |58 59 86 78 281
110653852400256 | th* % 025 P E R R 1080902 |HiEKS R4t A Hiil |57 48 59 114 278
110653852400202 | Ffii 025 B 5P (080903 | fil -2 5 [F 44 B 2 A Hiill |60 57 58 111 286
110653852414411 |55+ 025 RS %EE 085401 [ — AR TEEFAR (S|4 Hib (54 71 97 143 365
110653852401072 | J&+f: 025 S E%EE 085401 B —ARATERFAR (Fay|4Hibl (65 72 116 104 357
110653852401061 | E kA 025 S E%EE 085401 [ — AR TEEFAR (Hay|4aHb (64 57 111 125 357
110653852410933 [ F5/% 025 S E%EE 085401 B —ARATEEFEAR (Fay|4Hibl (53 62 111 129 355
110653852401067 [ F* 025 S E%EE 085401 B —ARATEEEAR (Fay|4Hibl (58 70 86 132 346
110653852409849 | ]| 025 S E%Ee 085401 B —ARATEEEAR (Fay|4Hib (56 56 102 124 338
110653852401069 [ 2= 025 S E%E 085401 B —ARHBTEEHAR (Fay|4Hb (54 75 87 110 326
110653852401073 [ i3 025 S E%EE 085401 B — AR TEREAR (S|4 Hbl |51 53 88 132 324
110653852401075 | F#3C 025 S E%EE 085401 B —ARATEEHAR (Fay|4Hibl (58 63 70 131 322
110653852405329 [#+J% 025 S E%E 085401 [ —ARATEEFAR (Fay|4Hb (59 79 73 110 321
110653852401054 |+ J% 025 S E%EE 085401 [BHi— AR TEEHAR (Fay|4aHb (46 70 71 125 312
110653852405327 [+ )X, 025 S E%EE 085401 B — AR TEREAR (Fay|4Hibl (58 59 86 107 310
110653852401059 | E K 025 S E%E 085401 B —ARATEEFAR (Fay|4Hib (56 60 89 102 307
110653852415892 | F I 025 S E%EE 085401 B —ARATEEHEAR (Fay|aHb] (47 64 104 88 303
110653852414083 [ 5+ 025 S E%Ee (085401 B —ARABTEEFAR (Fay4Hb (40 38 78 126 282
110653852401074 |3k 025 S E%be 085401 B —ARATEEFAR (Fay|4HbE] (54 39 72 116 281
110653852401055 | X1l 025 S E%EE 085401 B —ARATEEFAR (Fay|4Hibl (55 59 61 105 280
110653852401065 |7k 025 B EE%E 085401 [Hi— R TFEEHEA (Fwy4aHb (52 39 71 111 273




